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SN BA(SA) - MRAY - BES 0l &t o il HImEET
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s 121,409
NEotsdH 298 K& 419,160 441,750 A 22,590
= 209,580
< 83,832
s 125,748
307 glz2tol & 419,160 441,750 A 22,590
= 209,580
< 83,832
s 125,748
10 AL SXAIEEE2EH EX 419,160 441,750 A 22,590
OXgots4H Il
4,990,000 74 21228 419,160
= 209,580
= 83,832
s 125,748
SE+==28d N& 7,308 7,308 0
= 3,654
< 1,462
s 2,192
307 glz2tol & 7,308 7,308 0
= 3,654
< 1,462
s 2,192
10 AL SXNAIEEE2EH EX 7,308 7,308 0
OXZotsdH SE+3Hd 29|
609,000 =10 A 1200 & 7,308
= 3,654
= 1,462
s 2,192
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= 7,260
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= 66,745
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OSEAEE A2 242 27
20,0002 *3% +103] * 1274 & 7,200
= 7,200
301 L2 A F 79,200 0 79,200
= 79,200
01 AL EE 563 74,200 0 74,200
O0tsns & FHAEE MUA K& 74,200
= 74,200
09 HALAHIEA S 5,000 0 5,000
OEEYAEE 0 AHEAS 5,000
= 5,000
307 21201 A 7,000 0 7,000
= 7,000
01 2L =4l 7,000 0 7,000
OMZgEE(XIgHl) & A28y MEIAXE 7,000
= 7,000
AN SEAEE S Atdl2el X (XHA) 36,000 30,000 6,000
201 Lt 2| 25,000 25,000 0
03 &AL Z I 25,000 25,000 0
OCEAEE AtY &AL =X
2,500,000& =102l 25,000
301 L2 A Z 11,000 5,000 6,000
01 MEIBE X253 4,000 0 4,000
OOtsns L FALY MUA X 4,000
09 HALAHIEA S 7,000 5,000 2,000
O EAERE T8 FA AHEA 7,000
BZSYYH (FU=TA) 49,088 46,568 2,520
JlE3l 49,088 46,568 2,520
o= | 49,088 46,568 2,520
201 LBH2E| 27,668 26,948 720
01 At 2t 2l 18,168 17,448 720
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ORA2EIRFAHI 550,000& = 12& 6,600
HRaes(=UsX4) 287,933 166,787 121,146
LHEAHH K= 287,933 166,787 121,146
HEHN X = 287,933 166,787 121,146
701 JIEt3I HEEES 287,933 166,787 121,146
01 JIEtl AN ES 287,933 166,787 121,146
OY=S=SHEEINH ZHRE A== 279,301
OASSHSEIA A=s02IMN =E 8,632

_62_




